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Directions for the _following 5 tfive)
ifems ! !

Read the following passage and answer

the ftews that follow. Xoursansiwerslo

Hiese toms shrondd-be bused v thefussage |

only.
Pasdage

" Now India’s children have a right
to receive al least eight years of education,
the gnawing question is whelher it will
remain on paper or become a reality. One
hardly needs a reminder that this right
is diflerent from the others enshrined in
the Constitution, that the beneficiary -
a six year old child cannot demand it, nor
can she or he fight a legal hatile when
the right is denied or violated. In all cases,
it is the adull society which must act on
behalf of the child. Tn annther pecoliarity,
where a childs right to education s
denicd, no compensation offered Jater can
be adeguate or relevant. This is so

because childhoed docs‘ not last. If a legal

hattle fougiit on behalf nf! child is
tile use to

the ‘Boy or girl because the opporlunity

evenfually won, it may be of

missed at school during childhood cannot
sorve Lhe same purpose later in life. This
may be painfully true lor girls because

vur society permits them only a short

{2

D}

all. . The. Right to

childhoed,. if at

dueation (RTHE) has become Jawcal @
point in India’s history when the ghastly

prachice | of female infanticide —haw

resurfaced in the form of foeticide. This

s “svmptematic of ideeper turmoil” in

socicty which s  compounding ~the

traditional obstacles tn the edueation of
grirls. Tenacious prejudice” against the
intellectual potential of girls runs across
our cultural diversity and the system of

educalion hag not heén able lo address

]

it.

With teference Lo the pagsage, consider
the following statements © :

1. When children are denied education,
adult society does nol acl on behalf
of them.

2

2. Right to Education as a law cannot

be enforced in the country.

Which of the statements given above
isfare correct 7

{a) 1only

{h)y 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2
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According to the passape, what cquld he
thiey ~eaditiond] obatacies, 1o the

edueation ol girls?

L Inability of parents to fight a legal|

hatile when the Right to Education

15 denied to their children.

Z. . The (traditivnal of. thinking

about girls” role in society.

Wiy

3. The against.  the

intellectual potential of girls.

prejudice

4. Improper system of education.

Select the correct answer from the codes
given below :

fa) 1and 2 only
(b 2, 3 and 4 only
{¢y 1,3 and 4 only

(dr 1,2 3and4 .

On the basis of Lhe passage, consider the
following statements :

1. Right to Bducation is adegal right and
not a lindamental rght.

2. For realising the goal “of universal
education, the education sygtem in the
conntry mest be made idenfical Lo thal

“of developed countries.

Which of the statements given above
Isfare correct 7
|

fay  Ionly
{1 2 only
{c) Bath1and?2

{d) Neither 1 nor 2

——

&Y

t4-0)

Which one of the following statements

Corveys they key, messagy of) the

passage 7

{a¥ "India hasdeclared that tducation s

compulsary fur its children.

keen on
Right  ta

(hy | Adait

implementing  the

s0CiIOtye. 18 not

Fdueation.

{¢) The Right to Educationgparticularly

of a girl child,” needs to be
safeguarded,
{@ The system of education should

addeess (the' issue of Right to

Eduacatinn.

Which one of the following statements
conveys ihe inference of the passage ?

{a) Thc society has a tienacieus

prejudice  against the intellectual

potential of girls.

bl Adulls cannot be relied upon e
fighlt on behalf of children for their

Right to Education.

{¢) The legal fight 1o gel education lor
children is often protracted and

prohibitive,

fd) There is no sufficient substitute for
(:d\]cnl.iun received in childhood.
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Read the following pussage and uanswer
e 3 tthiree) items that follow ¢
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A, B CD and Eowre members of the
cume familé Thoie are bwo fathers, two
sons, Qo wives. threcs males_and Lve
females. The teacher wus the wife of a
lafeyer who was) the softaf o dactar. | F is

not x male, neither alo a wile of a
professional. € s the youngest person n
the family and 1) s

male.
FHow 15 D related to K7

{a) Hushand

10.

fthi Son
e Father
idr Wife
Wha are the females in the group J N
iwr Cand K
iht Cand I
fcl Band A
(dy Dand B j 2.
Whose will: is the teachcr ?
(@ C .
(b= N !
fer A
dy B

(6 - D)

ihe eldest, B s al

Read the following passage und answer
the 3.4three) items that follow :

I & warvey refarding W proposed
measure i be introduced, 2878 persons
dak Pt ol R K I602 Wenk inales 1226
persuns voled against 1he proposal ol

which 796 were males, 1425 persens voted

for  the proposal. =496 (emales  were
undecided.
How many females  voted! for  the
proposal ?
tay 430
thi GG
fer 624

iy 640

How many males were undecided ?

iy 31

(b ’
iy 12k )
el LRl ’

How many females were not in favour of
the propusal ?

{ay 430

i 496

fer  aRE

(di 1226

[n a queue, Mr. X is fourteenth {rom the
front and Mr. Y is seventeenth (rom the
end, while Mr. 7 is exactly in between
Mr. X and Mr. Y. If Mr. X is ahead of
Mr Y and there are 48 persons in the

queure, how many persons are there
belween Mr. X and Mr. 47

at 6
thy 7
fei 8
gy 9
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Directions _for. the foliowing 8 (eight

Read each of the following two passages
aud anrsuer the WHemb=that. foflow. [Your
ansers lo these items should be based on |
the possuges anly.
. Pagsapgé-]

For achieving inclusive growth
there is a critical need to rethink the role
of the State. The carly debale among
economists of the
Government can be mislcading. The need
of the hour is to have an cnabling

India is too large and

ahout the size

Government.
complex a nation for the State to be able
to deliver all that is needed. Asking the

Government to produce all the essential

goods, creale all the necessary job~. and |13,

keep 2 curb on the prices of all goeds i 1o
lead to a large cumbersome burcaucracy

and widespread corruption.

The aini must b Lo stay with the
vbjective of inelusive growth thal was Jaid
down by the founding fathers of the
natior and alsd to take a.morc modern

vicw of what the Slate c‘}p realistically

deliver.
-

This 19 what leads to the idea of an
enabling State, that is, a Gevernment that
dues not Lry to dircetly deliver 14 the
ciizens cverything that they need.
Instead, it {1) creates an enabling cthos
individual

for the markel so that

!

{8 -D)

entérprise can.flourish and cifizens £an,
for the moest part, “provide’ for the needs
of one another, and (2) steps in 1o help
these who do not~manage /ta do wellfor
themselves, for there will” always be
individualg;«no-matter what the system,
whe' necd support~and help. Hence we
need a Governmenl that, when il comes
to the market, scts. cilective,
incentive-compatible rulesand remains on
the sidelines with minimal interference,
and. at the samc lime, plays an important
role in directly helping the poor by
ensuring that they get basic education
and health scrvices and receive adequate

nutrition and food.

According to the passage :

1. The ohjective of inclusite growth
wag laid down by the .founding
fathers of the nation.

2. Need of the hour is to have an
enabling Government.

3. The Government should engage in
maximum inlerference in market
processes.

4. There is a need Lo change the size of
the Government.

Which of the siatementls given above are

correct ?

{a) 1 and 2 only

{b) 2 and 3 only

(¢) .1 and 4 only

(d) ]1,2, 3 and 4



6. Why.isthe Stale unable to deliver.all
thatlis needed™ ?

L. It does not have sufficient bureaucracy.

p—a

1. pdecording 4o the pasiage, Ahe strategy
sCanclusives srowth cans be cffected by
focussing on

20 Mt does ot [promote inclesive gratvih,

(a) CMeeting all the s needs_of every
Select the correcl answer from the codes

citizen in the country. ;
given below !

- . . {n) | on!
fhy Incrcarsmg Thc rejalations over Lhe b5 unli;
munulacturing sector. () Both | and 2

fd) Neither 1 nor 2

ontrolling  the  distributio r ;
fe) Contrulling - the distribution 0 17. What is thc essential message. being

manufactured goods, conveyed by the author of the passage 7
. . R . (@) The objectives of inclusive growth
L De]n‘ery of t}::e basic Suwc}'s to the laid down by the founding fathers ol
deprived seetions of the socicty. the nation should béTemembered.

(b) The Cdvernmenl needs to make
available ‘more schoojgs and health

15. What constitutes an enabling ;

Government ? services, .
(¢c) “The Gevernmentl necds to cstablish
1. Atarge bureaucracy. rharkets and industries (o mecet the
needs of the poor strata of the socicly.
2. Jmplementation of welfare (@), There is a need (o rethink the solc of
programmes through ’ the State in achieving ‘inclusive

. growth.
represeniatives.
Passage-2

3. Creating an  cthos  thal chelps The conceptl of ‘ereative society’. refers
individual enterprise. to a phase of development of a sociely in
o which a Jlarge number of potential
4. Providing Jesourges Lo these who contradiclions become arliculate and
are underprivileged, active. This is most cvident when
o . oppressed social groups get politically
5. Offering  direct he}f’,tc the  poor mobilised and demand their rights. The
- regarding basie services. upsurge of the peasants and tribals, the

muvements for regional autonomy and
self-determination, the environmental
movements, and the women’s movements
in the develaping countries are signs of
ia), 1, 2 and 3 only emergence  of  creative  society  in
contempaorary times. The forms of social
movements and their inlensity may vary
(¢} 3, 4 and 5 only f'rommetry to counlry and place to place

Select the correet answer vom the endes
given below : ]

th) 4 and 5 only

(d 1,2 3 4and 5 withjn a country. But the very presence of

P PFC-L-CGJB {10 -D)
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mewmmend Sdor shenl fransformation, 1in | 20,

vatiols gpheres ol aRdeioty imdicates the

cmergence of A creative society in R

country,

What does the author imply by “creative

doviptyl 2

By secietivivchere diversesdrlforme
and Bterary writings seck incentive

7 A society where socral inequahties
are accepted as the norm.

T A seciely where alarge number of
contradictions are recounised.

4 A society where the exploited  and
the npp‘rcssvd Proups grow CORSCINuY
of  thewr human righlts and
upliftinent.

Seloct the correct answer using the codes

miven helow

fay 1, 2and 3

bt 1 oaly

ict 3 and 4 N

fdr 2 and 4

What according te the passage are Lhe

manifestations of soectal movenents 2

1 Aggreseo e and boing incendiary,

2. Instabie Ty external forges

3. thest for secalegquality and individual
fri- fom :

4. Urge for pranting priril%;w and

« selfrespeet w Hsparaged sbefions of
Lhg saciety,

Seleet the correcl answer using the cordes

given below }

(4t 1 and 3 only

ihy 2 and 4 only

oy 3 and 4 only

e 1028 and 4 f
12 - D)

il rdforeneeslo the\ passage. eonsider
Jus fellowing stoldments -
I To

exsuntial Te Gave @ Vorely glsuial

b a creative  saciely, i1 s

movenents,

2 Lo he acreative  sociely, ot s

imperadive: | Vte have  polenbial

cuntradictions amd confhicts,

Which of the statements given above

hre curredt !

e ] ([!1[:'.‘

iy 2 only

{r Degdi snd 2

A Neatier | nor 2

Consider the following three statenunts

1. Oply stalenis can participate in the

L}

race.

2 Seme participants in the race are
grirls, '

A AN i) participants an the race are

mvated for conching,

VWhich ene of the fllowing conclusiens

cann be drawn  fmam  the  above

statements 7

fai Al parbieipants in the race  are
invited for couching.

(b Al students are  invited  for
coaching,

ter Al participants in the racee are
students.

tc) Nong of the statements fat thy and
vy mpven ahove 15 correct,



Direclions for the following 2 (ftew) ifemg

22.

23.
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24,
Fach of the following two ilems eonsists
of four  statements.—~Of these four
statements, oo canaot-Gotly batrue, bt
both can be [uise. Study the sitnlements
enfefulls  and Nideftify O thetuw that
satisfy | the above condition. Seleet the
correct answer using the codes given
below each sel of statements :
Examine the following stalements ;
1. All animals are carnivorous.
9 Some animalg are not carnivorous.
3. Animals arc not carnivorous.
4. Some animals ar¢ carnivorous.
Codes :
(a) 1and3
(b)Y 1 and 2 25.
{c) Z2and3
(d) 3 and4
Fxamine the following stalements
1. All trains are run byediesgl engine.
2. Some trains are rui by diesel
t.-ngim.-.
3. No train‘isrun by diesel en‘qinc.
4. Some lrains are mot rum by diesel
¢ngine.
L J
Codes :
(a) Tand?2
{(b) 2and 3
{¢) land3
(d) 1and 4
{14 -D}

Consider” the donr-age pyramids—given
below B, "C "and LB
representing four different countries.

W SAYGTA

namely” Aq

— — Pereenl in age class ——>
Which one of them indicates. Lhe
declining population ?

(a) A
by B
& €
)y

The following figure bas four curves

namely A, B, C and D. Study, the

figurc and answer the item that [ollows.
]

L

PR S N— ]

Population (billons)

0 — Iy M

0ap 30N 100 600 SO0 1600 1200 1100 1500 1800 2000
Year

Which curve indicates the exponential
growth 7

{a} A
b B
(et C

d) D



Directions for the following 2.(lwa) Hems -1262 Which -of the two towns has a higher

Th following  pie_scharly show Me aumber of hersons with Diabetes ?

break up of discase categories recorded in @) Town A

the patienisfrom, fwo towns. Town A and b Pown B

Town B 1le charls plotsthe discase (e Same in TowneA and Town B
categorics as percentage of the total “tdr No inference can he drawn

number of patients. Based on these,
andwer e Gve Stéms Chat @aBew) thédo7. \Wital cah/ Wi skyabout persons with
charls. [ more thar” one “disease  from Lhese

=1

graphis 7
Distribution of discases in Town - A (a) 'Fhere are likely to be persons with
el more than one diseasc in Town A,

S et L
= s-"'.’,"‘.rr 'HL,,]““ {b) There are likely to be persons wilh
- Diabeles = 1 more than one disease in Town B.
Il G =il
; I:. m!ﬁut- = = (¢;  There are likely to be persons with
No-- o] :__lult”:'!lll‘i-;!lm ‘ more Lhan one disease in both
1R S Tuwns & and B
\ - ‘_". ¥ 3 ) .
N High BI (d) Nodnlcrence'can he drawn.,
Obesily EF-\ - 13% )
144 s 28, (Candider tthie following  Velocily - Time
- erapl. M shows two trains starling
\ [ THeart Discase simultdneously on parallel tracks.
\ e »
\I\ S . .
\\JL\ JL // _
] 112 - . ?.’/7‘: ¢
o i

Valoeity
\
2\

v Time [
With reference to the above graph, which
ene of the fBowing stalements is not
rorrect ?

(1) Train B has an inilial acceleration
grealer than that of Train A

thy Train B is faster than Train A at all

l timas.

(i Both trains have the same velocity
at time t,.

tdv Boih trains travel the same distance
in tinge L, units.

- )

P-PFC-L-CGJB {16 - D}
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Directions for the following 4 (fouriitems »

Read thes following fitssage and answer
the items that folloe. Your answers to
these _items sliowld be bhased on_the
Jassage only.
Passage

A rountry under fareignsdemination
seeks eacape from the present-in dreams
of @ vanished age, and finds consolation
in visions of past grealness. Thal is a
fonlish and dangerous pastime in which
many  of indulge. An  equally
guestionable practice for us in India is to
imagine thalt we arc stll spiritually
groat though we have come down in the
world in other respecis. Spiritual or any
other greatness cannol be founded on
lack of freedom and opportunily, or on
starvalion and misery. Many western
writers have encouraged that notion that
Indians are other-worldly. 1 suppose the
poor and unfortunate in every country
beeome to some extenl other-worldly,
unless they become revolutionusics, for
this world is evidently nut cmeant for
them. So also subject peoples.

us

As a man grows {oamatarity he is
not enlirely engrossed g or satishied
with, the external objective ‘world. He
secks also someinner mcaning, some
psychologiéal and physical satisﬁictin}ns.
So alse with peoples amd civilizationst as
they “malure and grow adull. Fvery
civilization and every pcople exhibit
these paradlel streams of an external life
and an internal life. Where they meet or
keep close to each other, there is an
equibrium and stability. When they
diverge conflict arises and the crises thal
torture the mind and spirit.

- .

29.

30.

31.

{18 -0)

The passage mentions, that “this world is
evidently not meant-for them”. It refers to
prople who

L._seek freedom from foreign domination.
Zefve inrstarvalion and misery.

3. hecome revolutionarics.

&l .

Which of the statements given above
isfare correct ?

{a) 1and?2
{b)y 2 only
(¢) 2and 3
fd) 3 only

Consider the following assumptions :

1. A vcounlry under forcign domination
canoot indulze in spiritual pursuit.

to

Poverty is an impediment in the
spiritual pursuit. :

3. Subjeci  peoples become

other-worldly.

may

With reference to the passage, which of
e above assumptions isfarc valid 7

far 1 and 2
ib)
(c)

(d)

2 only
Z2and 3
3 only

The passage thematically centres on

l( 2) ihe state of mind of oppressed people
fb)  starvation and misery

{c)  the growth of civilization

{d} Dbody, mind and spirit of people in

general



32

Adrording (lo'the passage, the torture 6f
the mind and spint 1s caused

tal  by.the impattof forcign domination.

{b) by the destre to ¢scape [rom foreign
domination and find consolation n
visigns of past greatpess

ic) due to lack of cquilibrium between
an external life and an internal life.

{d) duc to one’s inability to be either

revolutionary or other-worldly.

Directions for the following 3 (three)
items :

P PFC-L-CGJB

Read the passage given below, sludy the
graph that follows and answer the three
items given below the figure.

During a party, a person was
exposed to contaminaied water. A few
days later, he developed fever und luose
metions. He suffered for some days bofore
going to a doctor for treatinent. On
starting the treatment, he soon betame
hetter and recovered ccomplelely a_ few
days later, Vhe filiowing frraph shows
differcnt phases of the pursom’s thscase
condition as regions A, B! C. 17 and E of
the curve. J

Number of Bacteria

=

<

Time

( 20

>
-
.

3o,

D)

Which *reglomregions) of | thes~curys
errespondicorréspondsy’  to ¥ incubiation

phase of the infection ?

() A only
(" Bonly
(@) [Band €

(di” No part of the €urve indicates the
incubation phase

Which region of the curve indicates that
the person  began [ showing  Lhe
symptoms of infection ¥

n) A
b B
fern
(d) .0 i

Which region of the curve indicates that
the treatment yvielded effective relief ?

(g C

ihy D

ey E

il The eurve doos not indicate the
treatment

There are four raules t travel from
oty A to city B and six routes {rom
¢ily B (o city C. How many roules are
pussible to travel from the aty A to
city C 7

(al 24
(b 12
{cr 10
{d) 8



37.

38.
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A_conlract-on constriiction/ job Specifies
alpenalty Jor delay” incomplelion of the
work beyond a  certain dale 18 as
follows) : € 200 for the dirst-day, ©250
for the second day, 7300 [or the third
day clc, . the penalty for each
sipececthng  day bemg o H0anore than
that bf the preceding day. How much
penally should the contractor pay if he
delays Lthe work by 10 days ?

(a) 24950
(by 24250
fcy T 3600
(d) 2650

Constder  the fAgure given below  and

answer the item that follows ; 40

P,

§7; L-/
o7z b

In the ficure shown above, O'P3 and C)'I"3
are Lwa plane mirrers kept perpendicular
Ly cach ~ther S is the dircclon of 2 beam
ol light falling on the mir'ror '01’], The
direction of the reRected beam of light
from the mirren QFy will he j

(aiPerperdicular to the direction S.
(e At 457 to the direction S,

fcr Opposite  and  parallel 1o the

direction 5.

(d)y Al &0° to the direction S,

{22 - D}

49, . Cobsider the following figure and answer
Y thd ilem that Fllows :

What is the minimum number of different
colours required to painl the figure given
above such thal ng Lwo adjacent regions
have the same rolour ¢

(a) 3
thy 4
fe} &
6

Consider the following fizure and answer-
the item that follows :

15
L

48

S

A square is divided into four rectangles as
shown above., The lengths of the sides of
rectangles are natural numbers. The
arcas of lwo rectangles gre indicated in
Lhe figure. What is the length of cach side
of the square ?

Ia] 10
thy 11
ey 15

{d) Cannot be determined as the given
data are inguflicient



42.

43.
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A person. has only T nd T 2 edins with
et 10 the Fotal number of ebing Lt she
has is it and the amount of money
with her iz 75, then the number of 31
and T2 coins are] respuctivedy

it b oand 35
th=3awind I:')_
fr) d0.and 20
(25 and 25

‘Three persons start walking  together
and their steps measure 40 ¢m, 42 cm
and 45 em respectively. Whal is the
minimum distance cach should walk so
that cach can cover the same distance

in complete steps 7

fa} 25 m 20 cm
(hy A m 40 em
(v TA m 60 cm
(d) 100 m 80 em

Iff & bus vavels 160 km in'4 hours and
a lrain Iravels 320 km ¢n 5 hoors at
uniiorm speeds,;othen what is the ratio
of the dhstances travelled by thvm} in
one hour ?

) M5
iy N
fcy 1.5
idy 12

( 24

44,
%

4.

Dir

- D

There are 100 students inga particula
class B0 staderts play [crickef,-30%
student play foulball dnd 10% stadents
play Abth_ the What is Lhe
nuinber of /studerits whit / play (meither

cricket nor foothall ?

gamoes.

) WA
by 20
ey 18
iy 15

A village having = population of 4000
requires 150 hives Cof water per head
per day.~!t ‘had a tank measuring
20 m ¥ 15 myx 6 m. The water of this
Ltk will Tast for )

(a! 2 days
by 3 days .
fcy 4 days
{d) 5 days

ections for the following 4 (four) ilems :

Read ihe following passage and answer
the items thuat follow. Your answers to
these itemns should be based on  the
pussage ondy.

Passage
\ A species that exerts an influence

l . . . . »
out of proportion to ils abundance in an:
ccosysiem is called a keystone species

The keystone species may influence both




the species richness of wovimunilics and
the-flow ol enérgy andustaterials through
The

orhrateas, owhich lives inlrockyantertidal

ecosyslems, sea  star  Pisosler

ccosvstems on the Pacific coast of North )

Americg s also arl exampleof d Keydtone
species. [Ls preferred-prey is the mussel
Mytilus coltfornianus. In the absence of
sea stars, these mussels crowd out other
in a broad belt of the

intertidal zone By consuming mussels,

competitors

sea star creates bare spaces thai are

taken over by a variety of other species.

A study at the Universily of
Washington demonstrated the influence of
Pisaster on specivs richness by removing
sea stars from sclected parls of the
intertidal zone repeatedly over 2 period of
five years, Two major changes eccuryéd in
the areas from which sea stars were
removed. First, Lhe lower cdge ol the
musse] bed cxtended farther down iufo
the intertidal zone, showing that sea slars
are able to eliminate mussels completely

where they aré covered with water most of

the time. Second, and more drimatically, I

28 of animals and algae
disappiared from {he sea siar removal

Zone. Mytilus, the
dominant competitor, occupied the entire
Through effect

competitive relationships, predation by

_spReIesS

Eventuaily only

suhstratum. its on

Pisasier largely determines which species

Tive in these rocky intertidal ecosystems,

46.
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What ds"the crux ef the\passagey?
Sea star'has a preferred ‘prey:

(b) A1 preferred _prieyy delermines the

survival of 4 keysione specits:

(¢t Keystone species ensures  species
diversily.

{d] Bea staris the only keystone species
on the DPacific coast of " North
America.

With reference to the passage, consider
the following statements &

1. Musscls are generally the dominant
species in inlerbidal #cosystems.

The  survival “of sea siars
generally© delermined by
abundance of mussels.

15

the

Which of the statements given above
i&are’ correct ?

(a)y. 1 only
{b) 2 only
(¢) Toth 1 and 2

(@) Neither 1 nor 2

Which of the following isfare implied by
the passage ?

1.  Mussels are always hard
competitors for sea stars.

9. Sea stars of the Pacific coast have
reached the c¢limax of their
evolulion.

3. Sea stars copstitute an important
component in the cnergy flow in
intertidal ecosystem.

Which of the statements given above

isfare correct 7

{a}]l and 2

{by 2 only
te) land 3
(d) 3 only

v

v

:

l

L
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Cofisider the follotving dssumptions

1. The food chainsifond weh in an
ecosystem ¢ pare  influenced by
keystone spetics.

2. The presence of keystone speeies s
a [spiecifie charactéristic /ofl iquatic
ceosyslems,

3. [fthe kcys.tunc species is completely
removed [rom an ccosystem, it will
lead to the collapse of the

ecosystem.

With reference to the passage, which of
the above assumptions isfare valid ?

(a) 1 only

{h) 2 and 3 only
{¢} 1and3only
(dy 1,2and 3

Consider the following argument :

“In order lo be a {eacher one musl
graduate from cnllege. All pocts are poor.
Some Mathematicians care  poets.  No
college graduat. is poor.”

Which vne of the following is nof a
valid conclugion regarding the above
argument 7

fa) Seme  Mathemalicians are  not
teachers.

{h) Some teachers arce not
Mathemalticians.

¢y Teachers are not poor.

(d) Pocts are not teachers.

{28 - D)

A~stddent on, ber first 3 Lests Feceived
an’ average-scere of N points. 1L she
exceeds her previous average score by
20 patnts on hey fourth test then-what
{s“the ' average “score- for | the - first
4 tests

(2 N+ 20
fliy N+ 10
(cy N+4
fd) N+5

In a group of persons, 70% of the
persons are male (and 80% of the
persons are married. If two-sevenths of
the males are-married, what fraction of
the femules is Gingle ?

(ay 977

{thi 13
A
dy 23

The houses of A and B face each other
on a road going north-south, A's being
on the western side. A comes out ol his
house, turns left, travels 5 km, Llurns
right, travels 5 km tu the front of D%
house. B does exactly the same and
reaches the front of (s house. In this
eontext, which one of the following
statements is correct ?

{a) C and D live on the same street.
Sh) C’s house Taces south.

{c} The houses of C and D arc less
than 20 km apart.

(d} None of lhclahovc




Directions for the following 6 (six)items 2/ |54.

Read each'of the Jololeiny lica pussages
and answer the Hems that follow. Your
answers (0 thest ttems should be based on

the passnges only.

Passage-l

Eeosystems-“provide people with a
variety of goods and services; fomdd, clean
water. clean air, food control, soil
stabilization, pollination, climate
regulation,  spiritual  fulfilmenl  and
aesthetic enjoyment, to name just a lew.
Most  of Lhese benefits  cither  are
irreplaceable or the technology necessary
to replace them is prohibitively expensive,
For example, potable fresh water can be
provided by dexalinating sca-water, but

only at great cost.

The rapidly expanding iuman

With reference to the passage, consider

Y the fllowing statcments,

population has greatly modified _the {99

Earth’s ecosystems to meel their increased
requirements of some of the goods and
services, particularly foad, fresh water,
Limber, fibre and (ucl. ‘These modifications
have contribuled substantially to human
well being and ~conomic deviclopment. The
benefits have not been equally, distributed.
Some peoplochave aclually been harmed
by these changes. Morcover, short-ter
< Increases i some ecosystem goods :m'j
services have come at the cost of (he

long-lerm  degradation  of others, For

example, cfforts to increase the production
of food and fibre have decreased the
ability of some ceosystems to provide
clean water, reguiate flooding and xupport
bindiversity.

P-PFC-L-CGJ4B { 30 -

D)

Expanding human population has an
advirse elfeet pivs

1. S;.)iritual fuifilment

2. Aesthetic enjayment

3. Dotable fresh water

4. Preduction of food and fibre
Biodiversity

Which of the statements given above are
correct ?

ial 1,2 and 3 enly

o

(h) 2.4 and 5 only
ey 3 and 5only

iy (12,3, 4and B

fhe passage mentlions that “some people

have actually been harmed by these

-changes”®. What does it imply ?

I, The rapid cexpansion of population
has adversely affected some people.

2. Sufficient efforts have not been
made Lo increase the production of
fond and hibre.

3. In the short term some people may
be harmed. but in the long term
everyone  will benefit from
madifications  in  the Earth’s
geosystems,

Which of the statements given above
isfare correct ¢

(al 1 only

{hy 2

{¢cr 1and3

fd} None of the sfatements given above
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With reference o the passdge, onsider
thetollowing stalements

Lhe
woll

modily
for the

1. It is imperative 1o
Earthlzs  ecasystems

being of mankind:

Technology can never replace all the
goods and  services ¢ provided by
eLosystems,

[

Which of the statements given above
isfare correet ?

(a) 1 only

{b) 2 only

(¢} RBoth 1 and 2
(d) Neither 1 nor 2

Passage.2

A moral act must be our own act; must
spring from our own will. If we acl
mechanically, there is no moral content in
our act. Such action would be moral, if we
think it proper to act like a machine and
do so. For, in doing s¢, we wse Qour
discrimination. We should bear 4nnind
the lelween acling
mechanically and acting intentionally. It
may be moral of a king i parcon a culpri
But the messenger carrying out the order
of pardon plav- ofly i mcchani:zal parl in
the kinu's moralacl, But if the messenger
were to carry out the kings order
considering it to be hig duty. his action
would be & moral one. How can a man
understand marality who does not use his
awn intelhigance and power of Lhought, but

distinction

lels himself be swept along ke a log of

wood by a current ? Sometimes a man
defies convention and acts on his own with
a view to absolute roed,

{ 32

59,
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Which of the _bilowing statements best

Yeseribef/deseribes “the thought ~of  the

writer 7

1. JA moral acl calls for_ using _our
tliscretion.

2. Man should react“to” a situation
immediately.

30 Man must do hiis duty.

4. Man should be able (oo defy

eonvention in order to be moral

Select the carrect answer {rom the codes
piven below :

(a} 1 only

(hy 1and3

(¢c) 2and3

(d)y 1and 4

Which of thefolluwing slutements is the
nearcsl  defimtion of moral action,

according tothe writer ?
Il is » mechanical action based on

1)
ufficial orders from supariors.
ibs; [Uis an activn based om our sense of
discretion.
tc) Il is a clever action based on the
. clarity of purpose.
{d) 1t i3 a religious action based on

understanding.

The passage contains a statement “fets

himself be swept along like a log of wood

by a current” Among Lhe following

statements, which isfare nearest in

meaning to this ?

1. A person does not use his own reason.

2. He is suseeptible to influence/pressure.

3. lle cannot withstand difficulties/
challenges.

4. He is like a log of wood.

Select the correct answer using the codes

giveh below -

(a) 1 only

{by 1 and 2
f¢e) 2and3
(v 1 and 4



Consider _the  following ™ distAnce = time
craplts The graph showsthicesthlotes Af
B and C running side by side for a 30 km

62:
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With reference to Lhe above graph,

consider the following statements :

1. The race was won by A

2 B was ahead of A up to 25 km|63.
mark.

4 C ran very slowly from _the
beginning.

Which of the statements given abpyve

isfare correct ?

(@ 1 anly
thi 1 and 2 only
(¢c) 2 and 3 only
idr 1,2and 3 ]
61. Consider the following figures :
.| 2 & 3 i
80| 24 120 | 36
What is the missing number ?
tat 7
bt B
i 8
idy 10
P-PFC-L-CGJB i34 -D)

Study the following fipure :

A pedsan goes fronf-A to B always moviig
to the right or downwards along the lines.
How many different routes can he adopt 7

A

B

Sclect the correct answir from the codes

civen below :

fay 4
by O
fc) 6
(dy 7

{*unsider the following figure and answer
thie ileny that follows :

What is the total number of triangles i
the abave grid ?

a} 27 l
B 26
ey 23
il

22 I



Directivns for _the /follawing 9" (ninc)

ifems :

64.

P-PFC-1-CGJB

The following nine items (Questions 64 Lo
721 apes, based- on-threcpassages.in
Fnghidhs o | test, W Sconipmibiension_of
English lunguage and therefore these
items do_not'have Hindi gersion. Read
encl pressage end \dnswery the fems | thal

follow. -
Passage-I

He walked several miles Lhat day but
could not get anything to cat or drink
exvepl some dry bread and some water.
which he got from coltagers and farmers.
As night fell, he slept under & haystack
lying in a meadow. Ie felt frightened at
first. for the wind blew awfully over the
empty fields. He felt cold and bungry, and
was fecling more Jonely than he had ever
felt before. He, however, svon fell asleep.
being much tired with his lonv walk.
When he got up next day, he wasdechng
terribly hungry sa he purchased a Joal of
bread with «a lew coins that<he had.

When the night [cll. he slept

(@) in the open Delld [l
{kt under a pile of dry grass

(c) in a {umers cottage

{d) ~under a tree

[Tesaon fell asleep beeause
tal he was exhausted

{b) he was all ulone

fer he had not slept for days

id) he was very Irightened

[66.

36 -D1}

With reference to the pussagey consider
the ﬁ:llnwing stalements :

1. He was  walking  through the

ronntryside.

2 The col»‘tngm's and {afmers gave him
eaough. food se thal he could sleep
atanight’ without [eeling bungry.

Which of the statements given above

isfare correct 7

{a) 1 only

thi 2 only

{¢) Both 1 and 2

(dy Neither lmor 2

Passage-11
1 upetied the hag and packed the
hooté in; and then, just as | vas going to
plose it, a horrible idea oecurred to me.
Ifad | packed my togthbrush ? T dont
know how it i, Dut [ never do know
whether Tve packed my toothbrush.

My toothbrush is u Lhing Lhat
haunts me when U'm travelling, and
makes my life a misery. [ dream that |
laven't packed it, and wake up in a cold
perspiration, and get oul ol hed and bunt
for it. And, in the morning, 1 pack 1t belort

[ have used it, and it 18 always the las
t

thing 1 Lurn out of the bag; ard then
repack and forget it, and have to rus§!
upstairs for it al the last mument an
carry il to the railway station, wrapped v

in my pocket-handkerchief,



67.
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When he was going-to glose the bag. {he
ideg-that ofeurred to himawas

fa) unpleasant
fh  wad

fer fanlastic

el

AN

Whal makes his life miserahle whenever
he undertakes travelling ?

fa) Going to railway stalion
{hy Forgelting the toothbrush
{¢r Packing his bag

(dy Bad dreams

His toothbrush is finally

{a) in his bag

{b) in his bed

fey i his handkerchiel
fdy ost

Passage-111
In spring, polar bear mothers eoierge lrom
dens with three month old cubs The
mnother bear has fastec foras long as cight
months but that does nut -lop the young
to hér
remaining reserves. If there uru‘triplets,

from demanding foll access
the mos: persistent stands to gain an
extra meal and it may bave the meal at
the'expense of cthers. The smallest of the
litler forfeits many meals [0 stronger
siblings. Females arc protective of their
aubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once scen the smallest of

triplets survive till autumn.

70.

71.

72.

{38 - D

Female polar bears give hirth during
3

Vat

spring
(W “summen
autumn

(c)

{d} winter

Mother bear

ia) takes sides over cubs
(b lets the cubs fend for themselves
(¢) foeds onlytheir Mvourites

(d) sei-s that'@ll cubs get an equal share

With reference lo the passuge, the

fullowing assumptions have been made

t.. Polar bears fast as long as eight
months duc to non-availability of
proy.

9. Polar hears always give birth to
triplets.

Which of the assumptions @iven above
w/are valid ?

{ary 1 only

ih) ?,]nn]y

Buth 1 and 2

i)

{dv Neither 1 nor 2




ireciions, ferthe( [ollowing | 8 [eighi)

tlemx .

friren el are ght-dlumes ASach sftem
desertbes o situation and 1z Joflowed Thy
JOu gt i stntsesy, Musdicgte, e
renpinsy yeio fIcd mpst T appropiafe.
Choose only one_response for vacll iom.
Thie pespreses will be eoluated based on
the level of appropriateness for the piven

spiniesfient

Please altempt all the ilems. There is
ro penally for wrong answers for

these eighl ifems.

Yau have bren asked (o give an
explanatien for  not
important  oflicial  meeting.  Your
immediate boss who bas not uiformed
vou abou! the meeling i now ph'ting
pressure on you nob s pidee an

sllegaton moainst hundier DY ou would

fur =end o writtén reply explaining the
¢

[HNS
‘hy  <ereh an appointiment with the p
B e vxplain the situation.

f¢) alnnt your fault to zave  the

sttuating,

i put the  responsibilily on the
conrdinator of Lhe meeting for not

informing,

P-PFC1-CGJB [ 40

-]

attending  anl|

=]

T4 g dbugl- thug sbadeclomentt fins—stdried

regal constructionson vour vadl plot

He has relused your reguest t vacite and

threatened you of dife, consequences in

eaze vou dd nelscll [the property Gt a

cheap price to him. You would

(2t citd]l the praperty at a cheap price to
him.

(b) o to the pulive for necessary action.
ic)  a=k for help from yvour ficighbours.

iy nepottate with thé goon {o get a
higher price.

You have to accomplish‘a very important
task for yourllcadquarters within the
nexlt two days Suddenly you meet with
an accident. Your office insists that you
complete the task. Yo would

ta) sk for an extension of deadline.

‘ht sform Headquarters of  ymur
mahility to linish on time.

o saggest alternate person o
treadyuarters who may do the

needful.

{d)  siay away Gl you recover.

You are an oflicer-in chiarge for providing
basic medical factiities to the survivors of
un carthquake affected area Despite vour
host possible effurt, peopie put allegations

}:sgninst you tor making money out of the

funds given for relief. You would
(a)  lJel an enquiry be set up to look inli
the malter

iby ask]your scnior (o appoint somd
other persan in your place.

fed nol pay atlention to allegations.

idi stop undertaking :1I_v nitiative tt'
Lhe niatter is resolvdd.
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Yon have been made responsible-da. hire
boats=at. a [short (notice “to /be, used Tor
On Lhe

price mentioned by the boat vwners you

an area under {lood, seeing

fannd Crthatl the Jowest D price "awns

approximately three times more than
the capproved tale of che Goverdinent,

You would

—

fal reject the preposal and call for a
fresh price.

ib}  accept the lowest price.

{¢t  tofer the matter to the Government
and wait.

{dy threalen the boal owners aboul a

pusstble cancellation of the licence.

You are the officer-in-charge of a village
administering distribution of vaccine in
an isolated epidemic hit village, and
you left with only onc vaceine.
There i1s a requirement of that vaecine
from the Gram Pradhan and
poor villager. You are beingepressurised
by the Gram Pradh:isi te issue the
vaccine to him. You would

dre

Also

initiate the procedur: Lo expedite
the nextosupply without issping the

fa)

vacrine to either.

(b} .strance vaccine for the poor villager
fromn the distribater of another arca.

ich ask hoth (o appreach a doctor and
gel an inpat aboul the urgeney.

{dy arrange vaccine for  the  Gram
Pradhan [rom the distributor of

another area,

79.
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You have taken up.a projest to creatc
nightishelters homeless— pebple
during  Lthe Within =«
week of establishing the shellers,  you
have | received {rom,_the
residents .u!' the arca about the inerease

rm‘
winter /£ scason.

romplaints

in thel® cases with a1 demand to remove

theshelters. You=wduld

fa) ask them 1o lodge ©a . wntten
complamt in Lhe police slation.

fb) assure residepls of am enguiry into
the matfer.

(¢ ask  residenls  to  consider the
humanitarian elfort made.

(d) (continue with the project and igmore

their caomplaint.

You, as an adminisirative authority,
have  been the
dauphter-in-law ol an influential person
regarding harassmentl by her in-laws on
account ol nsuffickent Her
parents are not able to approach you

approached, by

dowry.
beeanse of social pressures. You would

{ar call the in-laws for an explanation.

ib) counsel the lady to adjust, given
such a circumstance.

(¢} thke aclion afler her parents
approach you.

fdr ask her to lodge a complaint with

the police.



